


BOYKO.PICTURES STUDIO PROVIDES CUSTOM GRAPHICS:
ILLUSTRATIONS

ICONS

CHARACTERS

OTHER

NOTE: All the prices provided in this Price List are average
Exact prices are calculated according to the project details (number of elements, style, etc)

as per hourly rate $45.

Please also see our Styles Guide and F.A.Q. for more information
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STANDARD [LLUSTRATION

A COMPOSITION OF MEDIUM LEVEL OF DETAIL WITH A BACKGROUND SCENE

CAN BE USED AS A FEATURE ILLUSTRATION
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STANDARD DIGITAL
ILLUSTRATION $270
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STANDARD VECTOR
ILLUSTRATION
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ILLUSTRATION




LARGE ILLUSTRATION

A LARGE COMPOSITION OF HIGHER LEVEL OF DETAIL WITH COMPLEX SCENES

CAN BE USED AS A WEBPAGE BANNER/FOOTER
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PERSPECTIVE LARGE
ILLUSTRATION
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ISOMETRIC LARGE
ILLUSTRATION

$450
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MINTTLLUSTRATION

A SMALL ILLUSTRATION OF AN OBJECT OR A LIVING THING WITH NO
OR SIMPLE BACKGROUND SCENE. REDUCED LEVEL OF DETAIL

CAN BE USED AS A SPOT ILLUSTRATION
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FLAT/LINE MINI
ILLUSTRATION
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ISOMETRIC/PERSPECTIVE
MINIILLUSTRATION
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[CONS AND PICTOGRAMS

AN ICON IS A GRAPHIC SYMBOL WITH FEW ELEMENTS AND MULTIPLE COLORS

A PICTOGRAM IS A LESS ILLUSTRATIVE (COMPARING TO AN ICON) OUTLINE OR SILHOUETTE
GRAPHIC SYMBOL WITH ONE OR TWO ELEMENTS. RECOGNIZABLE AT SMALL SIZES
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(PER EACH)
$45
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VECTOR ICONS
O
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VECTOR
PICTOGRAMS
(PER EACH)




ISOMETRIC
VECTOR ICONS
(PER EACH)

‘3 $70

17 | 2



OTHERS

NON-STANDARDIZED GRAPHICS. PRICE IS CALCULATED UPON DETAILS

CHARACTERS, PATTERNS, INFOGRAPHICS, HAND-DRAWN ILLUSTRATIONS, ETC.
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Bong

CHARACTERS

PRICE IS CALCULATED
UPON DETAILS
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CHARACTERS

PRICE IS CALCULATED
UPON DETAILS
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